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1. & YoRd folgE SISl SoamEIE! SR ST, qEeA ST Ohian’ a1 9g qreEr YR
YA AT
(1) AT (|E) (2) TRETS (3M)
(3) TR (FeR) (4) TTUIHST (STEHETR)

The March ‘Jagar Janivancha, tumchya-amchya lekincha’, to create awareness against
female foeticide started from :

(1) Naigaon (Satara) (2) Murbad (Thane)
(3) Radhanagari (Kolhapur) (4) Ralegansiddhi (Ahmednagar)

2.  HERISM AFYSae Uiee ARSI AT I 7

(1) weNre e (2) HH®

(3) @ (4) PE

In Maharashtra, which is the first Marathi News Paper on I - pad ?
(1) Maharashtra Times (2) Sakal

(3) Lokmat (4) Loksatta

3. IV S T59Td HeeiRaR ¥RumaeA arg FHfor feen afme ?

(1) g fvy gRamn (2) HERIS ST e

(3) H@ safor Ay (4) TR ST TSTET

In which of the two states has dispute arisen on Mullapriyar Dam ?

(1) Punjab and Hariyana (2) Maharashtra and Gujarat
(3) Kerala and Tamilnadu (4) Gujarat and Rajasthan

4. 49 THHUET o qUER Higedrd SV Te! faaue™ Jum [RR e 2
(1) == 2) woud (3) W& (4) A O T

Which Marathi Movie was awarded the first prize in the 49th state Marathi Chitrapat
Puraskar ceremony ?

(1) Devol (2) Balgandharva (3) Shaala (4) Jan Gan Mana

HoTAT IS A /SPACE FOR ROUGH WORK
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5. 59 31 U foade WEhRIa St AMTarEl [UERRR 93 hI0TST WG SHivamd 31 ?
(1) 3T (2) Frtw Fof
(3) @ (4) e fET
Who was felicitated with the award of the Best Actor in the 59th National Film Award
ceremony ?
(1) Appu Kutty (2) Girish Kulkarni
(3) Neel Dutt (4) Gurvinder Singh
6. faum :
(H) < Hie™ & Hl AEEaE e IS 2010 - 11 1 e =wuiq wfedt 3.
(F) HUHH 2010 - 11 =0 3nfede =T9d 1,00,000 SAEHHE @+ Tl
(1) () W AR YW (F) T AR, (2) () & AR 90 (F) R AL
(3) (1) T (F) T 3R (4) (30 = (F) & .
The statements :
(a) Tata Motors was the top most company in production of commercial vehicles in the
financial year 2010 - 11.
(b) Company made 1,00,000 commercial vehicles in the financial year 2010 - 11.
(1) (a) is true but (b) is false (2) (a) is false but (b) is true
(3) (a) and (b) both are true (4) (a) and (b) both are false
7. 1 e SSfies faadet ae Il e R e wifsRenet Suen
T 3T 3T,
(1) o -5 (2) HaRa-2 (3) Y=-3 (4) 32
By testing the __ _ ICBM successfully, India has entered the elite club of five
countries. :
(1) Agni-V (2) Antariksha-II  (3) Prithvi-IIl (4) Agni-Il
8. HOIA T AGIAUITHIST HERS TR BV AISHI SRR el 2

(1) wred o (2) o wfg
(3) urF e (4) gFE=A

Which programme/scheme has been launched by the Maharashtra Government for
increasing the birth ratio of girls ?

(1) Ladli Laxmi (2) Balika Samrudhi
(3) Bhagaya Laxmi (4) Sukanya

THoeAT HIHTETS AT /SPACE FOR ROUGH WORK
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9. TR Wih TEh=Al S Siedl o ¢
T RTROTRY SRt CL]
(31) =& &, 7l () 2011
(a) <. [TEEE (i) 2008
(F) &. dFE (i) 2010
(%) oifirs ges (iv) 2009
(7 (= &) (®)
1) (v) @) @ ()
@) © (@) (@ )
() @ Gv) @)
4 @ O @) (i)
Match the following about Dadasaheb Phalke Award :
Recipient Person Year
(a) V.K. Murthy (i 2011
(b) D. Ramanaidu i)y 2008
(¢) K. Balachander (i) 2010
(d) Soumitra Chatterji (iv) 2009
@ () @© (@
1) Gv) G @ @)
2 O Gy @ @)
@) @ (v ) 6
@) @ @ @D ()

10. WE@ISR! S faamdem 24 7€ 2012 At TeMET Tyt gfaumaiE uidte A €t fee. vedt
I G S ?

(1) el foamdis

(2) T JEERs egwl HusHare faudis
(3) o foaards

(4) S AN foqamdis

Which of the following Universities honoured the Hon. President Pratibhatai Patil by
bestowing D. Litt. on her on 24th March 2012 ?

(1) Amravati University

(2) Dr. Babasaheb Ambedkar Marathwada University
(3) Pune University
(4) North Maharashtra University

e SHTATATE! W /SPACE FOR ROUGH WORK
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11. YIEAN HIUE SRS Ggad U=l FeMed 2011 § SR ST 98 |UA wifvd %
AR?
(1) §d YRR SoEl [awE (2) IHFE S-S
(3) SiToiw Hadq (4) DIHER SIS

What is the prime objective of the UN General Assembly designating 2011 as the
International year of forests ?

(1) development of all types of forests (2) people awareness

(3) conservation of forests (4) forests for people

12. 17 &1 9gF Uit g giedd uiiug Siver <9 a1t g 2
(1) 9Ra () <o enfes  (3) =M (4) Ry

In which country was the 17t United Nations’ climate change conference held ?
(1) India (2) South Africa (3) China (4) Bangladesh

13, ''UIofeTet 918 WA WIOIGUhT R SHES S e 2

(1) FmS Fo®T (2) oI

(3) U <TS (4) HUme 9

Who among the following was known as a “Paniwali Bai” ?
(1) Mrunal Kulkarni (2) Mrunal Gore
(3)  Mrunal Deshpande (4) Mrunal Sen

14. ‘iEr TRaErE, TRETEE! oo deEr ST R A Ju w A5 2
(1) o STest I A (2) A T ufsfasr fiaem
(3) TER Y A (4) TS(E STE S
Which scheme can be described as a scheme ‘of the poor, for the poor and by the poor’ ?

(1) Prime Minister Model Village Scheme (2) National Rural Livelihood Mission
(3) Sanchar Shakti Yojana (4) Rajeev Awass Yojana

ol SIHTETS S /SPACE FOR ROUGH WORK
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15. U =AedTE Hufid wioieisl Siv faum 9w TR ?
(1) 9™ =A@ A 2009 78 4IRa e

(2) T U JSTUEHN ATy TUTqT H0L.

(3) UM AATSd § o 9 WA GoT TR,

(4) W A T A% GURUE T WFT SR,

Which of the following statements is not true in connection with the gram Nyayalaya ?
(1) Gram Nyayalaya act was passed in 2009.

(2) It is proposed to set up a magistrate court at Mandal level.
(3) Gram Nyayalaya is a separate and independent organization.
(4) Gram Nyayalaya is a part of the judicial reforms.
16. ‘oSifeaHt AR ATHTO OigeT FarHienor’ g Aiel qafavardl Serear | i
.
(1) wfe wmiiser Feam vz
) e anfew faem™ mRmes
(3) e a ISh Ay
(4) TEget e

The responsibility of implementing the ‘Tejaswini Maharashtra Rural Women
Empowerment Scheme’ has been entrusted to :

(1)  Women Social Welfare Committee
(2) Women Economic Development Corporation
(3) Women and Child Welfare Department

(4) Non - Government Organizations

17. 2009 - 10 H&d ARG TI.0E.UY.31. <7 GAIUHR e aqdld < gaid eqes L1
UGS T FIvrd ?

(1) @ (2) fewree yew

(3) WERTE (4) i

As per the survey of NSSO conducted in 2009 - 10, which is the leading state in the use of
Internet ?

(1) Kerala (2) Himachal Pradesh

(3) Maharashtra (4) Hariyana

THEAT HTATHTS! AT /SPAC T FOR ROUGH WORK
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18. TS E FEEled s 9 qmfes IR 3 9y SgmEEt AerTe e S asr
e 3R ?

(1) e gt 9 3= fasomeret srem.

2) RIS HWW AoCHl STk o WIS Highya gl AL,
(3) orIHfua Sdteat faeneat=h o areTEt aeret e w9
(4) U ¥ AL

In order to achieve the objective of economic and social justice along with political justice,
which scheme is being implemented by the Government of Maharashtra ?

(1)  Scholarships for studying abroad and grants for higher education.
(2) Pre Matric scholarship scheme for children of persons engaged in menial work.

(3) Boarding schools for students of scheduled castes, to improve their academic
performance.

{(4)  All the above schemes.

19. .33, feeei=a fame Y= STeaeiIeer SivieE! il SRvam™ et TR ?

(1) ST fa9 yes (2) ol g SHE

(3) . WioEg qUr (4) <. gEsataT 9rd

Who has been appointed as the Chairman of the Board of Governors of IIT Delhi ?
(1) Dr. Vijay Bhatkar (2) Dr. Narendra Jadhav

(3) Dr. Bhalchandra Mungekar (4) Dr. Sukhdevsingh Thorat

20. WHGUSH! HIVE FHSAD! Viddl HEMEEH a0 NiETe @7 97 Yer@ HI0ITd 377 ?
(1) UL 3 Hig g

(2) STIfdS SATIR HEEAT
@) T
(4) 9! A

Which is the following organisations received the Nobel Prize for peace three times ?
(1) The International committee of Red cross

(2) World Trade Organisation

(3) UNO

(4) None of these

oAl STHTETS A /SPACE FOR ROUGH WORK
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21. 3EM sAGOE T R HER A HT4 ?
(1) EF - 220 (2) 9 - 1200 (B) *-24 (4) T - 250

What is the name of the new super computer made by ISRO ?
(1) SAGA - 220 (2 PARAM -1200 (3) K-24 (4) NASA - 250

2. WENIE WIHA Hafod ARl o el faamren sad Ao gumEs aeed Seee 329
IS FAT -
(1) TAde ST Mrde 07 3 8 garTerdie Joien FarSum JaoT FHH ST,
(2) enfeard qreEn fasm F.
() Frufsm a sy goi o, fear a e <5 @i @aedt aEfeol.
(4) <IH ediwidl aEdH]e Areaul.

What is the objective of the Prime Minister Gramodaya scheme of the women and child
Development Department Government of Maharashtra ?

(1) To reduce the malnourishment in children in the age group 0 - 3 years in the tribal
regions of the state.

(2) To develop the tribal regions.

(38) To provide food shelter and education to destitutes and orphans to make them
self-reliant.

(4) To run hostels for the children of Devdasis.

23.  YA9YH ISR IS & TSI 0T 9 W8l WP e [EFS! T
(1) Uik, dfdd Terdie Jam-gada1 SR THesey SuaTEra!
(2) Qe SISFIR Fashiqn WEUsmR e SvarEet
(3) wfe@r a okl WAASTR T Jvarme
(4) gfafaa wfeei wEisrR frean SwamEEt

The Prime Minister employment scheme is being implemented in the rural
and urban areas.

(1) to provide employment to young boys and girls from neglected and deprived groups

(2) to provide self-employment to educated unemployed youth
(3) to provide self-employment to women and young
(4) to provide self - employment to educated women

HeAT HTWEIE! AT /SPACE FOR ROUGH WORK
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24, FHIVA FAGERITAR ‘Fel’ 9 'ErRl’ 91 9 9IRaE {eeEeTen et ufifyrer wuias
SHIOITA AT ?
(1) =AUEE] HEAGRE! (2) AUEE! HTAGEE!
(3) UHRIUUEE! HEAGEEI (4) <A HeATGEE
By which amendment the ‘Bodo” and ‘Dogri’ languages were included in the eighth
schedule of the Constitution of India ?
(1) Ninety second amendment (2) Ninety third amendment
(3) Ninety first amendment (4) Ninety fourth amendment
25. Tl fores FHEOHER AN JUH R HERSE v Negne! fHere ?
(1) T 2 T (3) TR (4) ST
In Maharashtra which District has been the first to receive the Award of “Rastramata
Jijau Kuposhan Mukta Gram Abhiyan” ?
(1) Raigad (2) Pune (3) Nanded (4) Aurangabad
26. NS Ufed Euned MeArd heal e 9o ?
(1) 1556 (2) 1557 (3) 1857 (4) 1747
When was the first Indian Printing Press Started in Goa ?
(1) 1556 (2) 1557 (3) 1857 (4) 1747
27. 'vIREd 9l QEeT, UGR89 Yoo e’ sl aftreai 9yl ot ame arit

Yehed ' Wiotash! Shiven fSerna swrid et ?
(1) e (2 (3) STEHETR (4) CTER

In which of the following districts the ‘our water project” which is characterised by
sustainable water supply, watershed area and ground water management etc. is not being
implemented ?

(1) Nashik (2) Pune (3) Ahmednagar (4) Aurangabad

THeeaT SRIEMETS! SR /SPACE FOR ROUGH WORK




A 11 POI
28. TIFARNE FOowal HIE 2012 WIS Wefaeusa 1 g 45 YT 43 S fNEA
T TIAge AT i o,
(1) e Rl (2) IS B FR IRTIHS
(3) SHIHEE B (4) TIRe B
In the bye election held in Myanmar in March 2012, challenged the military
rule by winning 43 out of 45 seats.
(1) National Party (2) National League for Development
(3) Democratic Front (4) National League
29. WISIGUhH! HIVRT HEHI WRATH S Helid Wi T HEM 318 2
(1) T 7w . 7 (2) U TEEE F. 6
(3) U HEWT . 4 4) T wEEn %, 1
Which of the following is the longest National Highway in India ?
(1) National Highway No. 7 (2) National Highway No. 6
(3) National Highway No. 4 (4) National Highway No. 1
30. SFICS Wit VS ScTeT FIURT ST FhI0MT ?
(1) W (2) A (3) e wifEn (4) omfET
Which is the largest Atomic Energy producing country in the world ?
(1) France (2) Japan (3) South Korea (4) America
11 1 1 1 1 1 1 1 .
R S+ o+ + ?
3. S t3 175 itst3 gt 7 Hifedie afsedn 35 war=t skis o ;
m - @ 3 ®) @ -
Th f the first 35 f th i —+l~l—l-l+-1—+l+l—-1-+
e sum of the first 35 terms of the series > 371 37372737 e
is :
1 - 2 1 3 1 4) - .
M - @ 5 G @

HoAT STHTETST ST /SPACE FOR ROUGH WORK
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32, SR EW WA TUIHR 2160 AR I AW RALE. 12 R Wowfa_ )
(1) 60 2) 96 3) 180 4) 36

Product of two numbers is 2160 and their HCF is 12, then their LCM is __
(1) 60 (2) 96 (3) 180 (4) 36

33. WRatb=a+b+ . [zp T 8*32 =t fehaa et ?
(1) 56 2) 8 (3) 32 (4) 40

If asb=a+b+ Jab , then what is the value of 8*32 ?
(1) 56 2 8 (3) 32 (4) 40

34, Wot fooem 9 FEaE IS Sheaer AT hivHl % 430

6, 66, 666, 6666, .................. , 666666666

1) 4 2) 0 G 7 4 3

Nine numbers 6, 66, 666, 6666, .................. , 666666666 are added together in their total
which of the following number will be in the thousandth place ?

1) 4 2) 0 G 7 4) 3

35. & ARRETeH geanrd 20 o/, ia anft 60 fob. 1. o & I@ie 20 . 1. 3far awht 80 f. 4.
AT 7 @Yete 20 fh. AL ST awft 100 for. . S Sl @ 94 60 foh. . AR foradt deerd uw
FD?

(1) 47 faf9e (2) 25 fafe (3) 37 fafwe (4) 50 THFTE

A motorist drives first 20 km at 60 k.m./hr. next 20 km at 80 km./hr. and next
20 km. at 100 km./hr. How much time will he take to cover the entire distance of 60 km. ?

(1) 47 min (2) 25 min (3) 37 min (4) 50 min

36. 0,1,2 3, 4% 3% THel a9ed qIR ST G WIS 99 (w] nfor wala o8m o= ot
HEdIS B 81 AR,

(1) 23976 2) 32976 (3) 39276 (4) 29376

The difference between the greatest number and the smallest number made of 0, 1, 2, 3, 4
digits using them all but once is :

(1) 23976 2) 32976 3) 39276 4) 29376

oAl HIHMEIS! ST /SPACE FOR ROUGH WORK
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37. X 54—[82—(73—(15—*))|=37, T+ = Tohail ?
1 17 2 7 3y -7 (4) -17
If 54 —[82— (73 — (15—*))] =37, then "+ is equal to :
1 17 2 7 @) -7 @) -17
38. SR 13+2343%+..+93=2025, T (0.11)%+ (0.22)3+(0.33)3+ ...+ (0.99)3 = =it f#ad ferdt ?
(1) 0.2695 (2) 0.3695 (3) 2.695 (4) 3.695
If 13+23+3%+ ...+ 93=2025, then the value of (0.11)3+(0.22)3+ (0.33)3+... + (0.99)3=?
(1) 0.2695 (2) 0.3695 (3) 2.695 (4) 3.695
39. T fisreid 12 9T wd e, 21 Higd ¥4 &1, 20 917 ¥4 @1@, 9 19 Higd ¥4 fexd =g emed
R fovrela 9na T =g sredte @ fuseia ugor fhdt =g ofed ?
(1) 68 2) 34 (3) 24 (4) 48
How many four coloured balls are there in a bag, such that all but 12 are blue, all but
21 are black, all but 20 are red and all but 19 are green ?
(1) 68 (2) 34 (3) 24 (4) 48
1 17) ( 1 17]2
dear: |[4—=+ —| —|4-—=- =
40. ( 17 69] 17 69
1) 1 2 2 3) 3 (4) 4
Sirmoli .(4L+£)2 M(4L_zf
P T 17 7 69 17 69
1 1 2 2 3 3 (4) 4
41, HEST Ul I wae forened e1ed faaehs w93 ycish faeneaiy et e STe™ srifvieshas S

S WML FAWAFA T 91 IqS 9 Td T 2116 YA [EEATTRTHS H FS q TAdF
faaneaty fodt T3 <1 e ?
(1) T 44 (2) T 46 (3) T 45 (4) T 54

In a class each student collects an amount equal to the number of students in the class.
The class teacher adds ¥ 91 and a total amount of ¥ 2116 is handed over to the head
master. What is the amount collected by each student ?

(1) T4 (2) T 46 (3) T 45 (4) T54

AT hIHTETE! ST /SPACE FOR ROUGH WORK
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42. (0.3333 .....) X (0.6666 ......) = ?
Lyl o 2 5 3 o
G @ 3 e 3 @
(03333 .....) X (0.6666 ......) = ?
1 1 2 2 3 3 4 2
M 3 @ 3 Ol @ 3
43. WSS R & ol i ATE ?
(1) 1521 2) 2209 3) 5776 (4) 1825
Which term is not a perfect square ? _
(1) 1521 ) 2209 (3) 5776 (4) 1825
44, THT AFHAHE WM LM, T PQ d IM RS AT THHKH THGX {0 3Md d M <L = 75°
M<R = 65° feo sMea WM <1 =2 M<2=72
L M
75°
1
P Q
65 2
R S
(1) 105°, 120° (2) 105°, 65° (3) 105° 115° (4) 65° 115°
In the figure line LM || line PQ || line RS, if M<L = 75, M <R = 65° thenM <1 = ? M <2="?
L M
<,
1
D Q
65° 2
R S
(1) 105°, 120° (2) 105°, 65° (3) 105°, 115° (4)  65° 115°
x 3
45.

W;=Zaﬁ8x+5y=22,a?ya°r%naﬁﬁﬂ°r?
1 % 2) 2 3 % 4 1

x 3
It ; ~ 4 and 8x+5y=22, then the value of y is ?

A 2 2 3) % @ 1

AT STHTETS AT /SPACE FOR ROUGH WORK




A 15 POI

46. WY WIS+, ‘# TWUN -, ‘@ UM ‘ x’ I ¥ WS+, W 16$4@5#72+8 | fhHa
et ?

(1) 25 2y 27 (3) 29 (4) 36

If ‘$’ means ‘+’, ‘# means ' —’, ‘@ means ‘' X’ and ‘* means ’+’, then what is the value of
16$4@5#72*8 ?

1y 25 2y 27 3) 29 (4) 36

47. WOIGYHT HIUGEE Sl DRIVE a1 IREDV 31 3183 Hey ggifad ?
(1) LOWER : WORLE (2) AMONG : OMNAG
(3)  WORDS : OSWDR (4) STRAY : TRASY

Which of the following pair indicates similar relationship as DRIVE has with IREDV ?
(1) LOWER : WORLE (2) AMONG : OMNAG
(3) WORDS : OSWDR (4) STRAY : TRASY

48. R gl diget fead Moar ofe @ 2012 o™ fHd J9ar 4die ?
(1) 53 2) 52 (3) 54 (4) 55

If first day of the year is Sunday, how many Wednesdays would there be in the year 2012 ?
(1) 53 (2) 52 (3) 54 (4) 55

49. T Hishide WS89 ORDER ® x +$#+ 301 BOARD ® *x % = $, 319 fofgs s, « @@=
qTd ABODE %4 fofse SEe ?

(1) %*x$# (2) *x$#=+ B) %*x$+ (4)  %*x#$

In a certain code, ORDER is written as X +$#+ and BOARD is written as *X % = $, how
will ABODE be written in that code ?

(1) %*x$# (2) *x$#= (3) %*x$=+ (4)  %*x #$

50. WX 6x12=GOB, 4x17=FOH, T 7x9=?
(1) YOU 2) TOM (3) FOC (4) ROD

If 6x12=GOB, 4 X 17=FOH, then 7x9="
(1) YOU 2) TOM (3) FOC (4) ROD

oA THIHTEIST S /SPACE FOR ROUGH WORK
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51. WS 9R 3UST UsaiHHe Jeolek STishH o (Haced HaRlaian 12 YAvY Vs eNTHTY Saedrd
I HB IO Vs G T U535 ?
(1) WEAR (2) READ 3) WALK (4) TALK
If the letters in each of the following four words are first arranged in the alphabetical
order and then the group of letters so formed are rearranged as in a dictionary, which
word would have its group of letters in the second place among the four ?
(1) WEAR (2) READ 3) WALK (4) TALK
52. WYATEErAl SR FHAM AU YSEEST A w4 e -
NB QF TH,
OA" RD’ UG"
y o 2y 2 3 = y M
Select proper alternative for next term in place of question mark.
NB QF TH
OA'RD' UG
WK Y , X , M
53.  geATegrA SR A gy e -
12 18 24 ?
7/ \9 12 /\15 18 /\23 21/\29
4 9 17 11
(1 31 (2) 35 3 39 (4) 45
Select correct alternative in place of question mark.
12 18 24 ?
7/ \9 12 /\15 18 /\23 21/\29
4 9 17 11
(1) 31 (2) 35 3 39 (4) 45

HoAT TS AT /SPACE FOR ROUGH WORK
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54. A=A SR A bty feet -
KI, LH, MG, NF, ?
(1) PA (2) OE (3) YC 4) UB
Select proper alternative in place of question mark.
KL LH, MG, NF, ?
(1) PA (2) OE (3) YC 4) UB
55. S BORN=YLIM 31f0l FROG = UILT @ NECK = ?
(1) MUKH (2) MXPV (3) MPVX (4) MVXP
If BORN=YLIM and FROG=UILT then NECK=?
(1) MUKH (2) MXrPV (3) MPVX 4) MVXP
56. Yoo A Ul SHuaEE! A v e -
cccbb_aa_cc_bbbaa_c
(1) achbc (2) baca (3) baba 4 achba
Select correct alternative to complete the following series.
cccbb_aa_cc_bbbaa_c
(1) acbec (2) baca (3) baba 4) acba
57. e AfgrEr Waan fod 8 YHangel 9n foaw o, @ o Afg=ren uhirern fag| i
3w ?
(1) fa=r (2) WHAR (3) FuAR (4) wiER
If the seventh day of a month is four days earlier than Friday, what day will it be on the
nineteenth day of the month ?
(1) Sunday (2) Monday (3) Wednesday (4) Saturday
58. WIH® AaRATGHIHIG AT SFT, IVl STERAHENIS 318N AN ST o difes! ek

TR ?
a_acaba_a_acaba_
(1) bcecbc (2) abac (3) babc (4) cbbc

Which group of letters will complete the series, placing the letters serially in the blank
places ?

a_acaba_a_acaba_
(1) bcbc (2) abac (3) babc 4 cbbc

oAl HIUHE! SN /SPACE FOR ROUGH WORK
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59. S IIXXVIXVI BN YAK 340 T VIIVIXXVXXIT TS & ?
(1) GOAT (2) COCK (3) TUBE (4) SPOT

If ‘“TIXXVIXVI means YAK then ‘VIIVIXXVXXII" means what ?
(1) GOAT (2) COCK (3) TUBE (4) SPOT

60. I o= SIh 9 Tt fere -
. Q >
(1) 2) @) (4) @

Select correct figure in place of question mark :
. m ?

(1) 2 3) (4)

61. ITEdreAl TR 5 fh . AR =T Teder TH1 S9aTse dael, Wi 4 fo . i IremEr
TS TBo!. AT 4 fh. . FR o’ @ ga T=mee we e 8 fh. . siaver aiage.
W B feehTumgd f Hald Side fhdl SiaeR 39T ?

(1) 9 fe.. ) 12 fes# @) 15 fem (4) 21 f&,

After walking 5 km. towards rising direction Radha turns to right. After going straight
4 km. she turns to left. After walking 4 km. more she turns her back to the polar star, and
stopped after 8 kms. What will be the shortest distance of her current position from the
starting point ?

(1) 9 km. (2) 12 km. (3) 15 km. (4) 21 km.

SHoeAT HTATETS W /SPACE FOR ROUGH WORK
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62. WS SR A qar et -
5 2 5
|7 23[9 | |[4]28]13] [8[37]9]
8 12 ?
1 7 (2) 14 (¢ 4 4 XA
Select proper alternative in place of question mark.
5 2 5
|7 (23[9 |[4[28]13] [8]37]9]
8 12 ?
1 7 (2) 14 (3) 4 (4) zero
63. WEArsRT=AT S A qaig e -
35,49, 58,74, 81, __?
(1) 88 (2) 91 (3) 99 4) 97
Choose correct alternative in place of question mark.
35,49, 58,74, 81, _2
(1) 88 (2) 91 3) 99 4) 97
64. To@Td €t S -
(1) 12-21 (2) 34-43 (3) 56-67 (4) 69-96
Find odd pair of numbers.
(1 12-21 (2) 34-43 (3) 56-67 (4) 69-96
65. hearit g ot Wiy I oion € stk afed o, IS w1 G 9 SR ST

THod T TS 3T, HeArvid SIS A 614 ?
(1) dod aEe 2) g (3) o (4)

Kalyani is mother in law of Veena who is sister in law of Ashok. Dhiraj is father in law of
Sudeep and the only brother of Ashok. How is Kalyani related to Ashok ?

(1) Cousin (2) Mother in law (3) Mother (4) Aunty

HeeAT SIHMESr W /SPACE FOR ROUGH WORK
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66. THTETEA T TaEe fededn SR
1 4
3 | O 3 | 2
2 =1 foseg AT iVl &1 39 ?
1 1 (2) 6 3 4 (4 5

Two positions of a dice are given :

1 g
3 3

What is the number opposite to ‘2" ?
1 1 (2) 6 3) 4 4 5

67. SR 4x5=15 7x8=48 M 6x5=24, TW 8x4=?
1) 24 2) 26 3) 28 4) 30

If 4x5=157x8=48 and 6x5=24, then 8x 4= ?
1) 24 2) 26 3) 28 4) 30

68. <SR Document = 43, Monument = 63, Movement = 55, Settlement = ?
(1) 81 (2) 123 (3) 99 4) 79

If Document = 43, Monument = 63, Movement = 55 then Settlement = ?
(1) 81 (2) 123 (3) 99 4) 79

69. feoom dEm Avidie FAM IR Fa= Ig HIUA ?
3,1,4,2,5,4,6,?
1 7 2) 4 @) 5 @ 10

Find next term in the given number series.
3,1,4,2,5,4,6,?
L 7 2) 4 3 5 4y 10

HEAT HIWEIET AT /SPACE FOR ROUGH WORK
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70. A1 HdId T et fadt ?

1) 20 2) 21 @) 22 4) 24

How many triangles are there in the given figure ?

1) 20 2) 21 3) 22 4) 24

71. SRmaR faurmdie TsiemmmEeld Teiets! Fivd faum a@ o ?
(1) TesAR TR Negn=an god 9aid S 59 S,
(2) HieAL wald S UT&HE Sl Aigr el
(3) SgAr fSeRved [ AieAne ey Saesaes I !,
(4) SEHER fSeam faardte wald $H I el

Which of the following statements is right in case of rainfall pattern in Aurangabad
division ?

(1) Nanded receives more rainfall compared to other districts.
(2) Beed receives more rains in September.

(3) In majority of the districts rainfall in June is almost zero.

(

4) Osmanabad receives minimum rains among all the districts.

FHe=AT /IS W /SPACE FOR ROUGH WORK
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T wenEmEe fafay fray/ i Gt smRa. @i @@= SSaR I HuWe Aiel.

(1) HYarE, WHReT, FEEevar, TR
(2) FEEYETS, AN, FESTR, AR
(3) HheHITE, AR, TR, HHwiH
(4) HBYIR, HETDTER, HHRIHT, TR

Following are the peaks/hill locations in Sahyadri. Arrange them in the descending order
of their heights :

Kalsubai, Bhimashankar, Mahabaleshwar, Taramati
Kalsubai, Taramati, Mahabaleshwar, Bhimashankar
Kalsubai, Mahabaleshwar, Taramati, Bhimashankar

Kalsubai, Mahabaleshwar, Bhimashankar, Taramati

73.

ol AT IO 10T [ AR, A1 AGHIT TSeaTdie qard ST FgUTSt HIERIT: 65 9ot ga
ST TS Sdl. a1 TR fiegiie Heams e a1 TR,

Fiw aviF TSGR RV fSegmer 3 7ed ?

(1) 3 S (2) s fSe

(3) ITEHST fSiew (4) RO e

The climatic conditions here are hot and dry. Akole taluka receives highest rainfali in the

district - which is more than 65 cms. This taluka also boasts of a major hill station in the
district.

The description above is applicable to :
(1) Thane district (2) Akola district
(3) Ahmednagar district (4) Parbhani district

74.

AERITA WISIGeh! FHI0TdT RIS BIgHAT A1 TR ?

(1) s - g (2) AR - =R

(3) YU - T (4) ot - il

In Maharashtra which of the following Narrow-guage Railway routes is still working ?
(1) Miraj - Pandharpur (2) Murtizapur - Achalpur

(3) Parbhani - Akot (4) Purna - Washim

THoeAT IHTETS! ST /SPACE FOR ROUGH WORK
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75. Wl qaTd HeRIeld e el faammd wfdes T araae g goi—=4H foo 3.

Tfe J1TEFIM|A M JlJlAa]ls|O|N|D
UEY 327 a9HH °C 30 |31 | 33|35 |35 (3330|2931 ]33] 33|31
wsi=rar o 7ed 4 | 2 | 3 | 18| 25 | 666 |1733|1147|495 | 111 | 16 | 3
e Aifed! Toiede! wiore fawmomel Jead ?

(1) aie (2) STRACTR (3) =eY (4) ©TEe
Following is the monthly average temperature and rainfall data of a weather station in
Maharashtra :

Month J F M| A | M J J A S O | N D
Average high temp.°C | 30 | 31 | 33 | 35 | 35 | 33 | 30 | 29 | 31 | 33 | 33 | 31
Rainfall in mm 4 2 3 18 | 25 | 666 [1733]|1147| 495 | 111 | 16 | 3 |

Which of the following stations depicts the above mentioned data ?
(1) Akola (2) Ahmednagar (3) Dahanu (4) Lonavala

76. WIGIGUH! HIve fSeema i faga e T ?

(1) T (2) TR (3) e (4 e
Of the following districts, which district does not have thermal power station ?
(1) Nashik (2) Akola (3) Buldhana (4) Beed

77. @oeTH (31) 7 (F) & faun awE arg ga fae -
(1) I8 THE AP TS T S TN qIHE ®H A9 TRIEE wuA fawad
Auare Frg i) e
(9) drec ITER T99H 9.5° | /fow . a1 <0+ FH g
1) (=1) sufor (9) & et faum T agA () T (1) = wRufHEE 9.
2) (=) suftn (9) g T faum 9@ F9S a8 () 7 () = A7G FROHEE <a 7L
(3) () WA YA (q) IF .
(4)  (37) 9% g (J) A IR,

Read the following statements, (A) and (B) and choose appropriate option.
(A) Although located on the same latitude, places of hilly areas depict low temperatures
and hence are suitable for development of the hill station.

(B) Temperature decreases with increasing altitude at the rate of 9.5°C/km.
(1) Both (A) and (B) are true and (B) is the correct explanation of (A)

(2) Both (A) and (B) are true but (B) is not the correct explanation of (A)
(3)  (A)is true and (B) is false

(4) (A) is false and (B) is true

oAl SHIATE™ 9T /SP ACE FOR ROUGH WORK
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78. WS (1) i () & faum srgm A gai free -
(31) AL IHTE! WO 87 9 ad T &7 Jid UK T FH1 TR,
(9) aHIeE a1 WSHMIE I IRA TN YITHIdTe Ioard |18 HHT 371,

(1) (31) anfer (I1) € < faum v A () § (1) = wRofHwAEr 2.

(2) (31) anfr (1) = faum T s @ () 7 (31) <t AFG FROMHHIET < T
(3) (&) U I (F) IH 3.

@) (31 I A () 9 e

Read the following statements (A) and (B) and choose appropriate option :
(A) The ratio of net sown area to cultivated area in Maharashtra is very poor.
(B) Basalt is impermeable rock and provides less ground water potential.
(1) Both (A) and (B) are true and (B) is the correct explanation of (A)
(2) Both (A) and (B) are true but (B) is not the correct explanation of (A)
(3)  (A) is true but (B) is false
) (A) is false but (B) is true

79. WSS fauH am= -
(a) TERIEAT Y ShE SIS Fald S TFhart gas wed fMegmsd Ted.
(b) TR fasmTaed AT € wata FE AR,
(c) TRNISM AFFeareal g o foewm=n faay wuis orml.
Fletat wiv faym/faum 9% sme/a?
(1)  (a) ST (b) (2)  (b) &T (0) (3) (a) T (o) (4) T (b)

Consider the following statements :

(a) Of the total Maharashtra population, the highest percentage of population is in
Mumbeai city district.

(b) Lowest percentage of literacy is in Nagpur division.
(c) Pune is the third largest district in terms of area in Maharashtra.

Which of the above mentioned statements is/are wrong ?

(1) (a) and (b) (2)  (b) and (¢) (3) (@) and (o) (4) only (b)

el HIWEIST AT /SPACE FOR ROUGH WORK
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80. WY TR TMEETOT Bl @lid ARG gfadn e w=u[ Tsta et staeri
T AT GE FOl. GEaAd =T Hidld WIOIodeh! vl fSieel TeTel arn o s ?
1) TR, Ed, Aics, ey, TS, 4, 9 Ul
(2) ey, TS, AleE, FHE, gob, Hag, qog STTH d YaE.
(4) IS, g, 3, TITE, HIAT, e d TEfRidl.
Maharashtra Government has started Rajiv Gandhi Jivandayi Arogya Yojana for
emergency medical service to the people below poverty line.
Which of the following groups of districts will receive the benefits in the initial period ?
(1) Gadchiroli, Amaravati, Nanded, Solapur, Raigad, Dhule, and Pune.
(2) Solapur, Gadchiroli, Nanded, Amaravati, Dhule, Mumbai, Mumbai suburban and
Raigad.
(3) Nagpur, Nanded, Amaravati, Dhule, Raigad, Gadchiroli and Solapur.
(4) Nanded, Dhule, Thane, Raigad, Solapur, Amaravati and Gadchiroli.
81. Hud gaERug fafay ug 9 =t afired wien e foo oed. ale v S 9

ST 3TTed ?

(31) qUis - TAMHM Gelfed el

(=) femler - 37 oz

(%) HeAET - Ygard g

() emFieR - el oelia wed

@) (30, (=) sufor (=) ) (30, (F) fur (3)
G) (3D, () et (2) @) (=), (F) o ()

Which of the following pairs of the atmospheric layers and their features are correctly
matched ?

(A) Troposphere - availability of weather phenomena

(B) Stratosphere - czone layer

(C) Mesosphere - visibility of aurorae

(D) Ionosphere - reflection of radio waves

(1) (A), (B) and () (2) (A), (©) and (D)
(3)  (A) (B) and (D) 4) (B), () and (D)
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26 A
TG I1 WA Fleld YSa. WIoieush! hivledl Feumd I1 YHEAT Iy ar ?
(1)  ToIa =77 HeRTe (2) f&ol 9er
(3) @ M FwATEH TRTRagt (4) ufe=m dS S SrEm

Mango showers which are generally prior to the monsoon showers are predominantly
received in :

(1) Gujarat and Maharashtra (2) Deccan plateau

(3) Kerala and Karnataka coast (4) West Bengal and Assam
83. TS feheel & B foewdie T D AT

(1) & 2 (@) et (4)  Ffom

Jaigad fort is located near river of Thane district.

(1) Vaitarna (2) Shastri (3) Savitri (4) Kundalika
84. TR FIvial fiesl AUyl firen Adt=n @ama 4dl ?

(1) Horg (2)  SEHET (3) (4) T

Which district of Maharashtra completely falls in Bhima River Basin ?

(1) Solapur (2)  Ahmednagar (3) Pune (4) Nashik
85. 394 WAGHWU HM, IH SHF AEE wa AT FH IS g & 6 A et

0T IR ?
(1) e fgum (2) #HUSETel faum
(3) AR faum (4) TR favm

High mean temperature, high dieurnal range of temperature and low precipitation are
characteristic features of :

(1)  Mumbai division (2) Marathwada division

(3) Nagpur division (4)  Nashik division

Te=AT HIUTETS WA /SPACE FOR ROUGH WORK
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86. Wt () Iy (F) & faum s g vy frere -
(3) HaE 9 FEIS Il FS
(9) SR HS W T FahATel FHl H@M SIS QURT e SR oTerdl.
(1) (31) suftr (F) & A= faum g oA (F) T (1) < RO .
@) (37) anfer (3) & A faum v s T () 7 () = Frw FROiEE a L
(3) (3 T G (F) TF IR
(4) (30) IF G (W) A .
Read the following statements (A) and (B) to choose appropriate option :
A) Intensive agriculture is practised in city of Mumbai.
B) High rent of land forces farmer to cultivate short gestation crops.
1) Both (A) and (B) are true and (B) is the correct explanation of (A)
2) Both (A) and (B) are true but (B) is not the correct explanation of (A)
3) (A) is true but (B) is false
4)  (A) is false but (B) is true

87. Hiua fSocd HeRIse=a1 NS fSegmn Srifhd Wi S gvifadl ?

1) FE EE &5,

2) AR SRESEEE &3,
3) RN fadia wHiwE] Shde ¥ S fSegl.
4) Faqa w1 T yE SHo TSRl

The district shown in the shaded area in the map of Maharashtra depicts :

(
(
(
(

)  cotton cultivation zone

) area of bajra cultivation

) second highest population density district in Maharashtra
)  district constantly showing poor sex ratio

oAl STHTETS! SR /SPACE FOR ROUGH WORK
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88. it W TSN HERIST=! HHIE Y IR,

(1) fer (2) wHEd (3) g (4) doemm

Where is the “Samadhi” of Shri Saint Tukdoji Maharaj located ?

(1) Nashik (2) Mozari (3) Nagpur (4) Buldhana

89. WIBIBUh! Hivred foeena |emw gifgca fftfd=n s el ?

1) TR (2) ==L (3) e 4 g2
In which of the following districts, the defence artillary production factory is not found ?
(1) Nagpur (2) . Chandrapur (3) Bhandara (4) Dhule

90. WIAIGUH! HIVAT [Tl WLl BTG YT I FHSIST S ?

(1) g (2) 9 (3) e (4) s
Which of the following districts is currently a part of Red Corridor ?
(1) Nagpur (2) Dhule (3) Gondia (4) Beed

91. I THNS BAIfhd FOAT T A &R HfGS Y H et ?

A
(1) g BT (2) @S d A
(3) €W W™ 4) HERE oY

Area shaded and denoted by letter A in the map of Maharashtra suggests :

A
(1) tobacco cultivation (2) oil exploration
(3) scrub land (4) dense forest

HeeHT HIUMES! W /SPACE FOR ROUGH WORK




A 29 POI
92. WIHGUH! HIVM TOR I ThedR Hafea g 2
(1) TEER (2) FAVETHIR 3) fEETR (4) feyErr
Which of the following water reserviors is connected with the Ujni - Project ?
(1) Nath Sagar (2) Yeshvant Sagar (3) Shiv Sagar (4) Sindhu Sagar
93. TRNIEMI® Hivm faum St fsr=a Saga™ ST 318 ?
(1) &I&Y (2) fagdf (3) UHENIE (4) TSR
Which division of Maharashtra State is leading in Soyabean crop production ?
(1) Konkan (2) Vidarbha (3) W. Maharashtra (4) Marathwada
94. ST STHVIHE I 2 [& U1 G UL GBS h] HIVRA gL HAl AT ST ?
(1) weH Sled ) feammam
(3) T Hgue (4) IBAMM
In which of the following seasons, highest frequency of tropical cyclones is observed over
Bay of Bengal ?
(1) During monsoons (2) During winter
(3) During atutumn (4) After summer
95. WOl HENIMIS Ta1 & T AT FieA Siew fowdn aRd -

(1) 94t - qaaE cwHedl

(9) quit - IS 9qa
(F) I - WS HIR

(B) FHSl - TREDTR

(3) fmom - &H forer

T e B A/ Sre a0 R/A ?

1) (3D, (@), (%) a0 () (2) (30), () 3 (T)

(3) (3, (F), (&) 3o (3) @) (30, (F), (3) =fur (3)

Following are the pairs of rivers in Maharashtra and their source locations :
(A) Wardha - Multai hills

B) Purna - Baitul in Satpuda

C) Patalganga - Scarps of Matheran

D) Kukadi - Mahabaleshwar

E) Girana - Kem peak

Which of those above is/are correctly matched ?

(1) (A), (B) (C) and (D) (2) (A), (B) and (D)

(3) (A), (B), (C) and (B) (4) (A), (), (D) and (E)

(
(
(
(
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96. WIHGUS! PV feRNAE] Halq K qIgh 3R ?

(1) ARE N FgaH=s (2) Hrerq A qu

(3) TS Nt S&Ta (4)  F@STUN 0T STAeA

Which of the following districts have highest number of tahasils ?

(1) Nanded and Yavatmal (2) Solapur and Pune

(3) Gadchiroli and Jalgaon (4) Buldana and Amaravati
97. RN YSNM TR Teum= fohd] 9mT SAT9eT 31R 2

(1) 86% (2) 81% (3) 53% (4) 35%

How much geographical area of the state is covered by Deccan plateau ?

(1) 86% (2) 81% (3) 53% (4) 35%
98. TS HERI=A] THRIME IR e BM™ifhd F84 A, B, C 3107 D a1 18 Seifoeie smea.

¥ STIhH IV oo TR ?

zZ\
C

( ﬁﬁ

(1) =, fEied, aul sfty i

(2) =i, ¥z, fEmet suftn st

(3) STHUER, AgTER, Wl Sfor AR
(4) ", TR, 1w e W

In the map of Maharashtra four district areas are shaded and denoted by letters A, B, C
and D.

M Ysy

These districts are respectively :

(1) Dhule, Hingoli, Wardha and Sangli

(2) Wardha, Dhule, Hingoli and Sangli

(3) Amaravati, Nandurbar, Parbhani and Satara
(4) Wardha, Nandurbar, Washim and Satara
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99. TIHSAT UIEHTE! WSS a9 HIvw ?
(1) YRAT FAHST SfvFS (2) I TRARA SMSHS
(3) U RART 9fved fRTRTE w8 (4) ufvem fFARTS IR g4 fRaRugt w9
Retreating monsoons withdraw from :

(1) northern to southern part of India (2) north west India to Bengal
(3) north east India to the west coast (4) west coast to the east coast

100. 'EISH HIE ANET™ YT S TSR e WU FHIOR T’ § WG U-STead ened
1 foee aret 9t Foo faum Tdietst HIT=AT Jedd S ded ?
(1) fedrea (2) df¥=m e
(3) =St (4) &= S ffHd

‘“Terrible drama of fire and thunder before 65 million years ago’, called by paleo botanist
Shri-Birbal Sahani is applicable to :

(1) Himalaya (2) Western Ghat
(3) Aravali (4) Ring of fire formation

101. HDI 370 GDI Y= seiid, Jeioue! hIv faem sRisR o7 ?

(1) HDI for GDI =1 Jeaiaed Sael S Fleh U ddel S OfTe faumd ST,
(2) HDI 2ot GDI =1 Jeaindie w11 Sfte faumar aien ve faws 99y aTr.
(3) HDI 37for GDI =1 Jeai= qo1 &% Yehd gL,
(4) alSTET SRR TE

Which one of the following statements is correct about HDI and GDI values ?

(1)  Greater the difference between HDI and GDI values, greater will be gender inequality.

(2) Gender inequality is inversely proportional to the difference between HDI and GDI
values.

{3) HDI and GDI values are not comparable.
(4) None of the above

102. TS deooran USig TEA8T IVl 3THq! 2
(1) dayed (2) HewH (3) Ul (4) refus

Py

Who is the Defacto Chairman of the Planning Commission ?
(1) Prime Minister (2) Chief Minister (3) President (4) Finance Minister
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103. T Jueiis AHen Afa IREeadl R SuIEE! Uy fawm afwest
TATYT AT TS
(1) 7@+ 1951 (2) 1T 1951
(3) 6 AT 1952 ©(4) 319 1951
On the National Development Council was established for designing the five
year plan draft :
(1)  7th March 1951 (2) 15t April 1951
(3)  6th August 1952 (4) 31%h March 1951
104. THS qRATIE) YRATAT TS eyt ceamte fafay aufe & dier feo o
T : TRATAT A e, ST & AreH
ER| Bl EEIUf a1
1950 - 51 53.1 16.6 30.3
1990 - 91 29.6 27.7 42.7
2011 -12 13.9 27.0 59.0

TS TFATAT STHR I IR 7l aed= WEY T Bdl, Jelouh! Hivi faum sSier o1 ?

(1) Tt ISHAT ¥ed T = a1l FH AT R,

(2) OTESTERS SHIA HH TS el AT FH ASN AL,

(3) i AME Aer S HHY O WS R YR T AL Q9 AR,

(4) 2011 - 12 L2 T AT 13.9% STHI HH (@1 A S HUT ARATST AT I 0T
I R

The sectoral composition of India’s GDP for various years is given in the following table.

Table : Sectoral Contributioin to India’s GDP.
Year Agriculture | Industry Services
1950 - 51 53.1 16.6 30.3
1990 - 91 29.6 27.7 42.7
2011 -12 13.9 27.0 59.0

Based on the table and the nature of the Indian economy, which one of the following

statements is correct ?

(1)  The share of agriculture has declined due to falling agricultural productivity.

(2)  The share of agriculture has declined due to fall in the cropped area.

(3) Although the relative share of agriculture has declined, India continues to be an
agricultural country.

(4) Since the share of agriculture has come down to 13.9% in 2011 - 12, India is no more
an agricultural country.
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105. 2004 - 05 =1 fhATER THo Yrmete TEE Siied T 3 446,68 X S8 ARAE UM @9
Mt AR, ATIER, ATV HFTHHS 41.8% Bk T TG @S 8. T 446.68 2 qIEy =
Y FEMIS a8 UTHI SiET=ar JHIOTeR 614 Yo gise 2

(1) T G YA 41.8% YA 6O

(2) T S YHI 41.8% Y& A TE0.

(3)  TTHIOT STRET=AT FHTOIER ivrarg! 9o g .
@) T ST yAvTERle TR st e,

The National Poverty line at 2004 - 05 prices was T 446.68 per capita monthly expenditure
in rural areas. Accordingly, 41.8% of the rural population was found to be living below
the poverty line. What will be the impact of increasing the poverty line measure of
T 446.68 on the extent of rural poverty in India ?

1) The extent of rural poverty will increase. (beyond 41.8%)

2)  The extent of rural poverty will decrease. (below 41.8%)

(
(
(
(

3) The impact on the extent of rural poverty will be neutral.
4) The impact on the extent of rural poverty will be uncertain.
106. FISHE TG :

st I 9 S ST S Ui 9 @EifRd gaten o YS! 2.1 9 0.9 THh ST9T Bl qerdt
T JEH RW3.5% T 1.8% TSt g’ & faum siven veaifis dememed e ?

(1) TEO d=EriE A (2) <l deETE e
(3) el ot A (4) iedt deafie dem

Assessment of planning :

“The targeted growth rates of national income and per capita income were 2.1 and 0.9
percent per annum respectively. However, the actual growth rates were 3.5 percent and
1.8 percent per annum respectively”. This statement pertains to which five year plan ?

(1) Second five year plan (2) Fourth five year plan
(3) Sixth five year plan (4) First five year plan
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107.
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vt feadied GDI 9 Hed HDI =41 Heariel T 3TE0R 7
(1) e el STk g Fer | A,

(2) e umed SR A St S,

(3) e Sfirw wwan g et giafea st s,
(4) =R FIUEE AL

In which situation will the GDI value be lower than the HDI value ?
(1)
(2)
3
(

4) None of the above

When there is no gender discrimination in the country

When there is gender discrimination in the country

—

When gender equality is constitutionally guaranteed

108.

YRATH IV Gealte Ad gRd shidl 9gT STal 7
(1) =ren (2) e @) faw=n (4) TgE=

In which five year plan in India the green revolution took place ?
(1) Fourth (2) Fifth (3) Third (4) Second

109.

Hifdw Tieaoeriad Sumen fasmren gied RV YH= wedas SR 7ewd 37 7
(1) foda wieae (2) WAl Aigae
(3) ol wieaw @) @ i

Which type of capital is more important along with physical capital in view of the economic
development of the nation ?

(1) Financial Capital (2) Human Capital
(3) Foreign Capital (4) Private Capital

110.

HDR 2011 T9R 18 1980, 2005 307 2011 = WRdrd HDI @I 910 8 :
(1)  0.344, 0.504 11 0.547 (2) 0.256, 0.374 AT 0.340
(3)  0.694, 0.759 =TT 0.782 (4) 0.747, 0.800 YT 0.872

According to HDR 2011, the HDI of India for the years 1980, 2005 and 2011 were as
follows :

(1) 0.344, 0.504 and 0.547 (2) 0.256, 0.374 and 0.340
(3) 0.694, 0.759 and 0.782 (4) 0.747, 0.800 and 0.872
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111. YRAWIS Y% Suaiys qemaed 1 IJgreE 1 e g

(1) WEEHR 9 W= (2) o™ g 959

(3) STHMTHRAT 3 Wiga @) SRR

In every five year plan of India emphasis is laid on :
(1) Co-operation and freedom (2) Development Technology
(3)  Selfreliance and Independence (4) Unemployment

112. HERTLTES SV Y| 100% STIEHE RO faar sl §& det g ?
1) fosd (2) TREATE (3) @rew (4) HIH

In which region of Maharashtra, horticultural development scheme has been started on
100% subsidy ?

(1) Vidarbha (2) Marathwada (3) Khandesh (4) Konkan

113. T M I Fi=a SHSTHR 1960 - 61 FE AHIT 9T e R ESR IR
Je MEREETS ST T 3T |

(1) 40% o 50% 2) 65% I 70% 3) 67% T 65% 4) 61% 9 67%

As per Dandekar and Rath Prediction in 1960 - 61 people lived below poverty
line in rural area and in urban area.

(1) 40% and 50% (2) 65% and 70% (3) 67% and 65% (4) 61% and 67%

114. WA HERY Ugdid e Srafel STeaer hiv IR 9r8d ?
(1) e i TR
) ok dw s 3fear 3 T
(3) % R A THEEHR
(4) We % A® e 7 FEoH Hew
Who performs the responsibility of economic functions in Indian Federal System ?
(1) Local and State Government
2) R.B.I. and NABARD

(2)
(3) Central Government and State Government
(4)

4) S.B.I and Planning Commission
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115, AREIET USFR AT 9IRA IR B A 3T,
(1) 2 SRR 1991 (2) 2 RS 1993
(3) 2 3AfRER 1973 (4) 13 3ffeRIeR 1981

Employment Guarantee Scheme was implemented in India on
(1) 2 October 1991 (2) 2 October 1993
(3) 2 October 1973 (4) 13 October 1981

116. F9 2005 - 06 H&d * YR v FHRIHHET FEaTd JEIoTm! SVl HIAHS) HI0AT TSt Bt 2
(1) I 9ETHE g 9 govd Yiawn fmien e,
(2) RO WFTHE grEmE 9 goud giaen o s,
(3) <RIHE WIS 9 ST gramm giawn fefo woammet,
(4) e WIS graTya o e woamet.

The Bharat Nirman Programme was launched in 2005 - 06 for :

(1)  building infrastructure and basic amenities in rural areas.

(2) building infrastructure and basic amenities in urban areas.

(3) creating social and economic infrastructure throughout the country.

(4) building social infrastructure only.

117. MRAMIG 94K HIS SHheT JTEqeH e hIvd 3TTg ?
1) HaE 98 T (2) SETEE gt U g
() == UR = (4) HIGHE I TE

Which is India’s largest container traffic port ?
(1) Mumbai Port Trust (2) Jawaharlal Nehru Port Trust
(3) Chennai Port Trust (4) Kolkata Port Trust
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118. T 9 G 9aTyd Yoy faemmeet Terrgmed MSRDC <1 €19 HHl Aol 2
1) 1993 ) 1994 (3) 1995 (4) 1996

When was MSRDC established in Maharashtra for the development of roads and allied
infrastructure ?

(1) 1993 @) 1994 (3) 1995 (4) 199

119. LR 2009 AL TSA FIeRal HEHD AR e 9Ra’ RUH [RIeash! SISl
TR QUATHIET FHIVATT 37T B ?

(1) A e e

(2) YRAMHE Y S e
() e fRar
(4) 9°TY 06 - 14 FATEKIG qol-qoird e o

The National Literacy Mission was recast as ‘Sakshar Bharat” in Sept. 2009 to promote :
(1)  Adult education in India

(2) Adult women'’s education in India

(3) Primary education

(4) Primary education for the children belonging to the 06 - 14 age group

120. 394 M Sifas-SSe A1 Sfa® 387 UE TS 9. arered Gt wivk faam st
e ?

(1) 3oTe SHEIRE Fmfo o 3y-a%q o7, W o -Siee S faamarr fafo &
ST

2) 3UIe F=al derrd it %o S sty Sfaw-See aa-aTedt g i & S,

(3) Siforsh-Eloie SR o Fom 3u-a% 3@ M 3871 s faamarargd fmi
FS W

(4) 3oATe =t Frfdt Sfaw-<iere weE g st o -€lvre e fmio 2.

Ethanol and bio-diesel are known as bio-fuels. In this regard, which of the following
statements is correct ?

(1) Ethanolis a bye-product of sugarcane and bio-diesel is produced from Jatropa seeds.

(2) Ethanol is produced from crude oil and bio-diesel is extracted from wild plants.
(3) Bio-diesel is a bye-product of sugarcane and ethanol is produced from Jatropa seeds.
(4) Ethanol is produced from bio-diesel and bio-diesel is produced from sugarcane.
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121, & T AR GAEIE! TGHA Saoed! HIR ST TISHH &1 Jaov e SrTe
3.
(1) 1983 (2) 1985 (3) 1995 4) 1991
The Industries Reserved for Public Sector were opened for private sector after
(1) 1983 (2) 1985 (3) 1995 4) 1991
122. i qrnyE gfawiasd qEetat RIv T s o1ed ?
(1) fd=m, T, wfiewd, Tovmen, s, TR, T o fae,
(2) <, T enfon fomn, fo=m, o=, witagd, SR, fagm snfor dafamm.
(3) N, Tresdl i faegon, fHem, S uiEeT oo §er.
(4) i, foea vl enftn ¥R, ST, W= snfor e,
Economic infrastructure consists of :
(1) Irrigation, energy, transport, communication, banking, health, hygiene and
education.
(2) Banking, finance and insurance, irrigation, energy, transport, communications,
science and technology.
(3) Health, hygiene and education, irrigation, energy, transport and communication.
(4) Transport, power and communication, health, hygiene and education.
123. RAMI SRR THE QIS [Uarame] I Y= o= s & ?

(1) SEHER (2) dit=® (3) HEHITH (4) dTFE

What type of education is needed to solve the unemployment problem in India ?

(1) General (2) Technical (3)  Vocational (4) Medical
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124. =9 1993 9&dl YeA-foq &= fasm FoAEE! UL WiEe & SvmER! o wtwae et
&Il ?
(1)  ofcart e
(2) ST gamete wewl Te e
(3) T« e
(

4y fauar anfor e aifoawn femia.

The Rashtriya Mahila Kosh was created in 1993 as an advocacy organisation for the
development of micro-finance sector for :

(1) Tribal women

(2) Poor women working in the unorganised sector
(3) Poor women
(

4) Widowed and poor unmarried women

125. ML 1991 A& FEERFPRA WIHRSHT YRUeS AT WHF a9 9 WA
g Aaveh il AT God 9o TR,
(1)  SERIHTumET (2) & anfelw gRomE
(3)  SfdehieRToTET 4) oo W
In August 1991, India accepted policy because of which foreign technology
and Foreign Direct Investment became easy ? '
(1) Liberalization (2) New Economic Policy
(3) Globalization (4) All the above
126. 1993 W& YRA W& AT TGS AR SRR €I He.
(1) =i 9t TreH (2) I FAEREArE
(3) oI "REfET Tggarea (4) Tt (1) 9 (2)
In the year 1993 under the presidentship of India established disinvestment
Commission.
(1) Dr. C. Rangarajan (2) Dr. Manmohan Singh
(3) Montek Sing Ahuluwalia (4) (1) and (2) above
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127. 1993 Aol fRAAUE TRaTS GIHGIH! R0 WS HaT

(1) 4t TrsA (2) &t e

(3) . TS AwE (4) ot AR

Who submitted the dis-investment report of 1993 ?

(1) Mr. Rangarajan (2) Mr. Narasimhan
(3) Mr. Raja Chelliah (4) Mr. Malhotra

128. 1995 WA Y UH.UeE RGN el a@ U< GG ®o. N Hewld EIousd! HivK faud Iter
e ?
(1) I.TH. 9 FReIRl WA: hoodl Jhidal e .
(2) U2 IWIEEA B IR ARIGH Al I TH. U FRGATA RH H.
(3) Y.TH.TE FAGAN Tl Wiel Uee fohe TRl
(4) o Tl FoRE .

The patent on ‘Haldi’ was cancelled by the U.S. patent office in 1995. Which of the
following statements is correct in this regard ?

(1) The U.S. patent office realised its mistake.

(2) Dr. RA. Mashelkar challenged the U.S. patent office for granting the patent.
(3) The U.S. patent office did not grant a patent on Haldi.

(4) None of the above

129. enfeler URoTETE qEioH! S faue seR R ?
(1) YAy TEg T9 =1 AT TS TR 7 Sfeleh GURunar &dsha qafae.
(2) YRaWER FfHE GURUTET HAHT JavaH qaHEa 6T A gE S
(3) YRAIAER A9 3Tew fagrt arsrue It snifefer gumun=n FREwA gE Fol.
(4) YIRGHER YAUHN TSt e AT SnfelE guReier wRiwT gE Sol

Which one of the following statements is correct about economic reforms ?

(1) The programme of economic reforms was initiated by Prime Minister Narasimha
‘ Rao.

(2) Prime Minister Manmohan Singh initiated the programme of economic reforms in
India.

(3) Prime Minister Atal Bihari Vajpayee initiated the programme of economic reforms
in India.

(4) Prime Minister Rajiv Gandhi initiated the programme of economic reforms in India.
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130. ‘TR ISR WU A 9 I I[aavphiadie e ey, a0 3 wan fIda s

(1) Sl TH. IS 2) . fmu. ol
(3) Sl i @ (4) = e g

Who said “Economic liberalization means scraping of the undesirable restrictions, controls
and licensing over investment imports and production” ?

(1) Dr. M. Ramanjaneyula (2) Dr. V.N. Atri

(3) Dr. Robert Pul (4) Dr. Peter Drakar

131. 1991 =41 iReNfies HRon-Siaria wRd stdogaedmfie aresHis S i HH 0 3T
T qEISeh! FHIVH GO HIST HEl IS ?

(1) @ ST e, WS SIS TEE IqUIE S e JUN G e 6
FOA TS

2) T-dafaam, o9 e it wt TeeT= didst e I SEIEed TWHR HGaR He.
(3) WESIE I Gei= HTEAIHAT s TR Kot TRe.

(4) TEEE I HEHHS YRT- iedordl Ua 9 R[Ee hred, fadia g, §d 9
ST SAITOT R oo Sides

The New Industrial Policy of 1991 reduced the role of the public sector in the Indian
economy. What evidence do you find in support of it in the following options :

(1) The industries reserved for the public sector were dereserved with the exception of
only three industries.

(2) The government will review existing public enterprises in low technology, small
scale and non-strategic areas.

(3) The management of public enterprises will be given greater autonomy.

(4) The government would offer a part of government share holding in public enterprises
to mutual funds, financial institutions, general public and the workers.
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132. 9RAM et wEAT 77 feeft wiere.
(1) 13 feds) 1993 (2) 15 fedax 1993
(3) 1 S Hard 1995 4) 13 fedaR 1994

India accepted the GATT agreement on
(1) 13 December 1993 (2) 15 December 1993
(3) 1 January 1995 (4) 13 December 1994

133. JChR TSUGAEET TSIGTH! HIA ITe0 FIIeR SR 2
(1) €A o e (2) @ FAIAR FHAG
(3) I YehES hI (4) YRR S T

Which one of the following is an example of NTB ?

(1) Imposition of customs duty (2) Child labour argument
(3) Reduction in customs duty (4) Regional economic integration
134. foshdita <w enfor fasreeiie <u ai=mwdite e frefauamr It qraTen (Tee)
J2 fet B,
(1) ffEnda 2 =biEme
(B) e It 4) st
Who visited India (Delhi) to solve the crisis between the developed and the developing
countries ?
(1) Bersing Roy (2) Vhalree Greesgard
(3) Paskal Laimeea (4) George Bush
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135. ST SATfaeh aTaaQl qI T F1.
(1) 47% (2) 50% (3) 38% (4) 55%
Due to Globalization of the worlds forest is destroyed.
(1) 47% (2) 50% (3) 38% (4) 55%
136. AU AU (IMF) =1 H34id Woeds! Sivid faem ste] omg ?
(1) STAE A U SIMHET TEET SFFRT BA He1 fmaa.
(2) St HSR FHAAT N STMER RV T DG TR
() ST AR RATS! TR I e fow TR
(4) SUR! RV 7R
Regarding IMF (International Monetary Fund) which one of the following is correct ?
(1) It acts as the lender of last resort to the member country.
(2) It does not put any conditions while sanctioning loans to the country.
(3) It has so far never provided loan to India.
(4) None of the above.
137. 1990 - 91 T wRar= fasft Smrr=n dewid Ieie ®ivM g sRie 18 ?

(1) TRH, 3708 A=A ST ARG JG1
) R Genie faweTeiie e =mR gal
(3) A 9 AT AR =R g&

(4) TSt TR

Which of the following statements is true about foreign trade of India after 1990 - 91 ?
(1) Foreign trade increased with USA, UK

(2) TForeign trade increased with developing countries of Asia

(3) TForeign trade increased with Japan and Australia

(4) None of the above
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138. STIfdehieRLomen Heuid Wioie a9l fa=rm™ =

(2) STIAERIHTOMLS SAUR TR e gl
(b)  STIARIHIUTGS AR fowgd JHIV o] SIS Tiam.

FUGUR! RV AT/ IR TSR AR/ 37 ?
(1) X (a) : (2) %X (b)
(3) = (a) S (b) (4) IR TN

With reference to globalisation consider the following statements :
(a) Globalisation leads to trade expansion.

(b) Globalisation increases availability of goods to consumers.
Which of the statements given above is/are correct ?

(1) (a) only (2)  (b) only

(3) Both (a) and (b) (4) Neither (a) nor (b)

139. Rare Fidia wata sifus e s aggan g ?
W) gem, <o
2) W d KEes T
(¢) &, Ifm, WA, @) s 9
(4) wletw! e

Which commodities have highest share in India’s exports ?

1 Uranium, Steel

3 Diamond, Jewellery, Chemicals, Readymade Garments

4

(1)
(2) Petrol and Petroleum products
3)
(4) None of the above
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140. JER-FER (EXIM) ToE/ don deuid ediets! wio faum 9 g ?

(1) e 9RY gl fafdie ST R.

(2) HST UR G G99 § wRIEH HUAH Hed B,

(3) T ST 9] ST Hell Qe wed .

4) =l ¥d faur 99 R4

Regarding EXIM policy which one of the following statements is correct ?

(1) It facilitates sustained growth in exports.

(2) It enhances the technological strength and efficiency.
(3) It provides better quality goods and services.

(4) All the above statements are true.

141. yRar=n faeyt =Rt frea aele faum foemm =,
(a) THaH F@me wyRaren fa s STEHE Higal JHIE 916 SIa.
(b) T FeoHe AN TEHE R WL THEd 780! 3R,

FhotE! Fon faum/faum 9 AR/ a2
(1) T (3) (2) T (b)
(3) R (a) 3N (b) (4) S TR HORE T

With reference to India’s foreign trade consider the following statements :

(@) India’s exports and imports have increased considerably over the period of planning.
(b) India has faced substantial trade deficit during the period of planning.

Which of the above statements is/are correct ?

(1) (a) only (2) (b) only

(3) Both (a) and (b) (4) Neither (a) nor (b)
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142. € 2000 2008 I7 @ HIvAl & & faqeh Taavs wata ity a2
(1) W& (2) &=
(3) SEr &R (4) SR o7 anfory

Which sector is the largest recipient of FDI in India during 2000 to 2008 ?
(1) Service sector (2) Agriculture sector

(3) Industrial sector (4) Trade and commerce

143. SV eI U™ ' HTTE! 9 Fgorard ?
(1) JU SR (2) TEELAR () Ul SR @) SEham

Which unit of valuation is known as “paper gold” ?

(1) Euro dollar (2) S.D.R (3) Petro dollar (4) GDR

144. 1991 TA YRATA qEIGUH! S ISl GEar qol 2
(1) g Adfegawen | oM gurens 7.
(2) wrESITE & faEn .
(3) W AR TEATE
(4) =dSUH L

Which age has begun in India since 1991 ?

(1) Age of open economy and economic reforms.
(2) Age of expansion of public sector.

(3) Age of foreign trade control.

(4) None of these.
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145. JEIGUS! IvdT SR HEF0MET T 39 TR ?

(1) fafd erqeH 2) fafe wam

() == (4) ST W[

Which of the following is not a measure of trade control ?

(1)  Export subsidies (2) Exchange licensing
(3) Quotas (4) Import tariff

POI

146. ST srefraedds GAeis! S faum ster e ?
(1) 3TET HaHfien 9ok et Siee 1T 3Te.
2) fodr IR SR @ 9 e Aot ARl
(3) SIS TSR STS[E! SHATEd el el Al
(4)  SHATSIRIA A YA AT (mobility) ST 3.

Regarding world economy, which one of the following statements is correct ?

(1) Product market in the world economy is well integrated.
(2) Financial markets are not yet truly integrated.
3
(

) Capital markets are yet not integrated.
4)  Labour market shows greater mobility.

147. Slds =AUR GoeA1 (WTO) =1 Hewid @reie faum faamm =
(a) TS HETTH WS WU YRAST SR foaedir=T wrEe oTR.
(b) YRGTE YdrHTETSAT Fatda Tt W TR,
(c) JERT AN A enfir FrE T e wrR.
(d) enfds aegEiargA fHeum weER.
Fhots! FIUd FEY WA e v ?
(1) (), () 3T (d) (2 (b), (o) ST (d)
®) (a9 (b) v @) (@), (b) M (c)

In the context of WTO, consider the following :
( As a member, India benefits from expansion of trade

(

(d) Benefits from financial provisions

Benefits from multilateral rules and regulations

Which of the above benefits are available for India ?
(1) (a), (b) and (d) (2) (b), {c) and (d)
(3) (a) and (b) only (4) (a), (b) and (c)

a)
(b) As a member, India has better prospects for agricultural exports
S
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148. |9 2008 - 09 HEd Tyt HeaTes TUEvHaRit Higd FHIUId |iE RA Adewaq g
HT HdS ?
(1) = sefeaemed frfo wree dde feerd,
(2) % SERY Yfdge R

(3) WRAMI® HAGHIT TR Gl
(4) HEEEHETA Ffahe F YR

Why did the foreign: institutional investors withdraw a large amount of resources from
Indian economy in 2008 - 09 ?

(1) because of recession in their economies.

(2) unfavourable attitude of Central Government.
(3) weak infrastructure in India.
(

4) unfavourable tax policy of Central Government.

149. YRdE T 91 YR Igdl FHt fasroam st ?

(1) 8 Fgart 1983 (2) 8 Tgart 1996
(3) 8 HYAR 1994 (4) SOtH T

When was the fully convertible rupee system adopted ?
(1) 8 Feburary 1983 (2) 8 Feburary 1996
(3) 8 Feburary 1994 (4) None of these

150. e (faad gurom) Sfor i HEET HRd WHRA Hegl B el ?

(1) 2004 (2) 1998 (3) 2000 4) 2001

When did the Government of Indiaintroduce the Patent (Third Amendment) and Seeds
~Act-in India ?

(1) 2004 (2) 1998 (3) 2000 (4) 2001
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151. 9RAR HE= Geuid @ee faur faerm =

(a) ST H IA (b) TS YHIIE T RN
() st ferada wRom (d) TR FIED
FUGUHT RV A6l YRATT HWTAAT TG geifaan ?

(1) (a), (b) ST (c) (2)  (b), (c) T (d)

(3) (@) (c) =ufer (d) 4)  (a) 3T (c) et

In the context of Indian tax structure, consider the following :

(@) Inadequate tax revenue. (b) Large evasion of tax.

(c) Adverse effect on savings. (d) Favourable for investment.
Which of the above are the shortcomings of the Indian tax structure ?
(1) (a), (b) and (©) () (b), (9 and (d)

(3) (), (c) and (d) (4) (a) and (c) only

152. WOGUH! I @ varg fHega faa S .
NQIEINGRERRE T 1 HEd <.
(a) SAifed géan stehvRom
(b) EEE 3P JOAA FET AAGRTY TIR HI.
(c) I A e SAdHEHT TR FHIOL.
1) @9() 2 ®3a(© (3) @9 (b) 4) (@), (b) (o)

Fill in the blank by selecting proper option from the following :

Zero-based budgeting lays emphasis on

(a) Unlimited deficit financing.

(b) Preparing the budget neglecting the history of expenditure.

(c) Preparing new budget right from the scratch.

(1) (a) and (c) (2) (b)and (9) (3) (a) and (b) (4)  (a), (b) and (c)
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153. WESHH GEgal Qoo 9= f9ard =,
3T @ ST grETd gfaer i wvan 7ed Sl
refiren THdle [ 9isa F{ugd 9er.

d) SRRl GHRUAT WerAd

(YT FHIUTC el SF fohrar=n AlHaa #ed FLw ?

(1) (a), (b) A () (2 (b), () S (d)
() (a) (b) T () (4)  (a) =T (b) R

In the context of public expenditure, consider the following :

(a

)
(b) Helps in bringing about balanced regional growth.
)

(c

(d) Helps in improving balance of payment position.

It helps in building economic infrastructure.
Helps in rural electrification.

Which of the above helps in development process of India ?
(1) (a) (b) and (d) (2) (b, () and (d)
(3) (a), (b) and (c) (4) (a) and (b) only

154, SAT-YEH A9 WISGTHRT v A1/ Ao SAGL 3R/ 318 2
(1) TE@sEs 99% GAREH AEEate FUQT fHesd.
) Tridate g TWEReT FR 1S 9T I g,

(3) TEidate U e qeais 3o § STHade wUqy MHaum= Ica=mie S
FrEar

(4) T R T SRR T

Regarding customs duties which of the following statements is/are correct ?
(1) About 99% of custom revenue is derived from import duties.

(2) Export duties contribute significantly to the government’s revenue.

(3) Relative share of export duties is greater than import duties.

(4) None of the above
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155. USifadid SAEeR] 9 SISTqae FaeuTdd HHel [eio TRaes AT 3T

(1) i TSfada e aEmeE Afus dAfehs BEe.
(2) I Tl e dewen dftw sty e,
(3) HH TS R Jo1de 2o

@ e

FRBM Act is based on the following assumption :

(1) Higher fiscal deficit leads, to higher growth in the long run.
(2
3
(4

) Lower fiscal deficit leads, to higher growth in the long run.
) Lower fiscal deficit leads, to inflation.
)

None of the above

156. AT TR FHES g TRRHSH [ SR H3Ara1 1l Grcar FH 1 8 378 ?

(1) g g AeHged wol 3TeHT e,
(2) &E TERE @SS g

(3)  FrefieredEt TeoaRRE W

(4) T HERS WA HAihs TR

Why is the share of central loans in the total debt. of states declining steadily ?
(1) Loans blocked in state development plans.

2
3
(4

) Privatisation Policy of the Central Government.
)  States are self sufficient for their funds.
)

Shifting of states towards private loans.

157. |7 2009 - 2010 H&d THU HIHOWIS Hg SHRA] Heqe! Icq=ra1 a1 g
(1) 756 %R (2) 663 TFR (3) 80.6 <Fh (4) FhSTR! AR

In 2009 - 2010 the share of tax revenue in total revenue of the centre was :

(1) 75.6% (2) 66.3% (3) 80.6% (4) None of the above
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158. WH@US! A4 dl v fraed e s 9w

_ WETH TR 2002 Y uiEdl TSR deeei FEE A o

(1) wAleH 2) @ (3) g (4) USE

Fill in the blank by selecting proper option from the following :

Government of passed the first Fiscal Responsibility Legislation in
August 2002.

(1) Karnataka (2) Kerala (3)  Tamil Nadu (4y  Punjab

159. Woeus! Arg al vatg faed faa s uw -

YA A J0 JEferd o172,

(1) 01.04.2013 (2) 01.01.2013
(3) 01.10.2013 (4) aetE! T T

Fill in the blank by selecting the proper options from the following :
The Direct Tax Code is proposed to come in to effect from __
(1) 01.04.2013 (2) 01.01.2013

(3) 01.10.2013 (4) None of the above

160. ¥ 2009 - 2010 AL} RATHS A 2 fdl Bl ?

(1) S = 5.1% (2)  SELEL = 2.5%
(3) SHEL. =M 6.1% (4) ali@yE TE

What was the Revenue deficit in 2009 - 2010 ?
(1) 5.1 percent of GDP (2) 2.5 percent of GDP

(3) 6.1 percent of GDP (4) None of the above
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161. WA Aferaedgay] wieie o faanm =
(a) HEEERS TEE HUQ Frarian Afas F T W el
(b) I ITE SYRIAES MRATS FR TEHE 950 HOT AR,

o v fauH/faum 7 e/ eRa ?
(1) % (a) (2) ®K (b)
(3) < (a) 3T (b) (4) < AEE

In the context of Indian economy, consider the following :

(a) Direct taxes now account for more than half of the total tax revenue of the central
government.

(b)  There has been no changes in India’s tax structure over the past 5 decades.
Which of the statements given above is/are correct ?

(1) (a) only (2) (b)only

(3) Both (a) and (b) (4) Neither (a) nor (b)

162. YR 2009 - 10 U GESi4% @9 T 1. €L 9. =31 fohdt <ok 8id 2

(1) 172 =& (2) 256 TFh (3) 153 TFh (4) 291 TFk

The ratio of public expenditure to GDP in 2009 - 10 in India was :
(1) 17.2 percent (2) 25.6 percent (3) 15.3 percent (4) 29.1 percent

163. TTESITE sl § H0T FGETTAE 91T 3TA o WS a6 Gadd .
(1) fordita ¥R9 (2) HdHHETT TR0
(3) = fawasm gRw (4) TOSUS HIVE! TR

Public borrowing involves problems of debt. management which is clearly related to :
(1)  Fiscal policy (2) Budgetary policy
(3) Monetary policy (4) None of the above
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164. 2009 - 10 9&4 37, WA o7fv7 Fafdedie 9 STIeM @ SRMaia Seaer=l T
K
1) 19<Fh (2) 24 TFh (3) 3.0TFh
Direct subsidies on food, fertilizers and exports were of GDP in 2009 - 10.
(1) 1.9 percent (2) 2.4 percent (3) 3.0 percent 3.2 percent

165. @E@YE! A 1l watg fagd faa s oW
fashient=n qovd 99 o R fw @ e,

(1) g (2) i (3) UES gHfaa A (4) ™

Fill in the blank by selecting proper alternative from the following :
The basic defect of sales tax is that it is

(1) Progressive (2) Regressive (3) Easily evaded (4) Neutral

166. FUYFTEN W IHCATH TAS@ H1E HUd TGAM EISTeh! HIv] q2 IhR=A] gerd FhH

Teifaa ?
(1) tfesiE ge (2) TEEH T
(3) TEIH® 4 4) wufEE ge

Which of the following deficits shows the amount of government deficit, when the economy

' is operating at potential output ?
(1)  Fiscal deficit (2) Revenue deficit
(3) Structural deficit (4) Primary deficit

167. AeIafdd ®U=A1 (VAT) S9id e HIvd fa9m arg o1% ?
(1) ToIartd T haq IR fTenie] Sge S, daiag .
(2) g fafdER o qeaattd e war e,
(3) WoHarHd T RA WA IR 3.
(4) TUGUHR HIVIAE T,

Regarding VAT, which of the following statements is correct ?

(1) VAT is applicable only on sale of goods and not the services.
(2)

(3) VAT is existing in India since independence.
(4) None of the above

VAT paid on exports is refundable.
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168. fa<iia g &1 FRUIHR! WISIGUH! HIVd I SIS IS SIawd ?

(a) iara 3o Sl il "k
(b) HEASTH Sehehg TRUMAT SR B i,
(1) wH (a) (2) ¥ (b)

(3) T (a) 3 (b) (4) R TR

Which of the below mentioned measures can be used to recover the fiscal deficit ?

a) Through internal and external borrowing.

(@)

(b) Borrowing from Central Bank against its own securities.
(1) () only (2)  (b)only

(3) Both (a) and (b) (4) Neither (a) nor (b)

169. (EISUh! HIVMI Th Hedh IRATA WA To1 [aSar=l g =R Saet [ Al

(1) I AR [REaoen da. (2) SdwEE wigder! T
(3) dn fwa (4) TG TRAHT Sohi= ¥t Qe a1g

Which of the following does not account for supply of foreign exchange in India ?
(1) Services rendered to foreignérs (2) Import of long term capital

(3) Gold exports (4) Increase in Indian bank balance abroad

170.

1991 FR YEIGUH! HIVAT I WA TS TSI T TSN ?
(1) 1993 - 94 (2) 2000 - 01 (3) 2007 - 08 (4) 2008 - 09

Which of the following years in the post 1991 period withessed a decline in foreign
exchange reserves ?

(1) 1993 - 94 (2) 2000 - 01 (3) 2007 - 08 (4) 2008 - 09
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171. T FIEAAR SYFHTHTOT M FA T AS[ HOIAEET 2002 T4 ARG TR
FHIVI [T AT FH 2
(1) <=ccrEr afrdt (2) .U, HwR Gt
(3) .U®, UM |iFd! (4) 2. <@ afit

Which of the following committees was appointed by the government for modernisation
of tax administration and broadening of tax base in the year 2002 ?

(1) Chelliah Committee (2) V.L. Kelkar Committee
(3) B.L. Mungekar Committee (4) C.D. Date Committee

172. forita Stersieran nfor srefeshedta e fadgs =11 (FRBM) Sedd Wieie ss! farerid =1,
(a) TRYSWI® 4 0.5 THFh a1 AN AfHeh THING FHT FI0.
(b) o g2 0.5 29 a1 NS S JHIUNG HHT H01.
(c) weasd T g sohehgd Fel B dTed e,
(d) TeuiaEmen <ot 9 4RO SRR 0 HEEHREl SUTHRE AT
FUURT HIvRaT a6l TTed F0 T fadwa AT e ?
(1) (@), (b) T (o) @ (b () = (d)
(3) (@), (b) T (d) (4)  (a) ST (b) w
In the context of FRBM (Fiscul Responsibility and Budget Management) Bill, consider the
following :
(a) Reduction of revenue deficit to 0.5% or more.
(b)  Fiscal deficit to be reduced to 0.5% or more.
(c) The central government should continue to borrow from RBIL
(d) It is mandatory for the central government to disclose changes in accounting
standards and policies.
Which of the above are aimed to be achieved by this bill ?
(1) (), (b) and (0) 2 () (©) and (d)
(3) (a), (b) and (d) (4) (a) and (b) only

173. W A @ vt Frer R T

T I A6 i FUIRA FHSR I ST qed T A TZUIT.
(1) st aRefTe (2) Faid FHIHTET
(3) Jaa eagls (4) A fowm

Fill in the blank by selecting proper option from the following :
If national income increases then automatically tax revenue also increases it means

(1) Internal convertibility (2) Internal tax system
(3) Internal value growth (4) Internal Development
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174, YA HT § T HUUT IS/ WA AT HRA ¢

(1)  3TIEE Ha1 R0 HI0 TR 316,

(2) AL Y HIGAER AR R HAT.

(3) ST I HESEESH 2oddl Id AR

(4) Y T =A™ A GHAA FEIIG A T_A B,

Indirect taxes can be regarded better than direct taxes because :

(1) Indirect taxes are inconvenient to pay.

(2) Indirect taxes are more pinching.

(3) Indirect taxes are not easily evadable.

(4) Help in maintaining justice and equality.
175. 3699 9 WiSHOER SEl Y qHacad S9d 9 [dauh :

1) =md ) ferwe (3) BN (4) =T TR

If maximum tax is imposed on capital and income then Savings and Investments

(1) Increase (2) Remain stable (3) Reduce (4) None of these
176. WISIGIHT HIE e FEATH ARG CHTH 6o THd AR 2

(1) a9 & (2) <=9 G (Figam)

() fora sl (FHem) (4) T faey 7 Sfa 9@ fem +

Which of the following functions is not accomplished by Al system yet ?

(1) Surf web (2) Play chess

(3) Speech understanding (4) Expert system for medical diagnosis
177. 127.0.0.1 &1 S9N, dgq & T

(1) fofhes dieare sma.dl. sigq 2) TUF FAA. IIW

() TEERRE AW, sigH (4) TR dicHre IE.q, igH

127.0.0.1 is called as .
(1) limited broadcast IP address (2) loop back IP address
(3) multicast IP address (4) Direct broadcast IP address
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178. SIel TETE ShiFefex Sear, Afed!, Se1 fohal T HIreel SEas Hidl fohal =1 TS HH

el T HTl T HIFFX JuTSIel TR,
(1) S = (2) FFgEE
(3) HIFHX WA (4) HIT Wl AR

When any computer instruction, information, data or programme that destroys, damages,
degrades or adversely affects computers performance, it is said to be.

(1) computer virus (2) computer theft
(3) computer software (4) computer freeware

179. 3T9.TH.H.37M49.3740. BN .
(1) ITEIAT e HIS TR FHUYE 3w

2) EEA Eed FIT TR TR s
(3) T WeE HIE W THHHYA Fea
(4) ardet T

S.C.LIL stands for

) International Standard Code for Information Interchange
) Indian Standard Code for Information Interchange

3) Italian Standard Code for Information Interchange
)

4) None of the above
180. HIIER 3fioe Ao fAH™ST ATRER A6 S FeaTa™d =t < TETSt
9.
1) 5 (2) 6 3 7 4) 8

The presiding officer of Cyber Appellate Tribunal shall hold office for a term of
years from the date on which he enters upon his office.

1 5 (2) 6 @ 7 @ 8

181. ‘nfem S iy’ € widie TS IAE IS ?

(1) feurdde oifw wH ) fa fawm

(3) Tafean o= 4) s, favm

‘Media Lab Asia’ has been promoted by :

(1) Department of Commerce (2) Department of Finance
(3) Media Lab (4) IT Department
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182, &1 GHIE ® 0 SIS TEF 3R,

(1) WIshIgIe SFoN (2) e why

(3) & A fafeay (4) T awfor .

Java script is a product of company.

(1) Microsoft technology (2) Net scape

(3)  Sun micro systems (4) ATand T
183. TSI T BN

(1) AT B RTHS T T IS Aeadh

2) 3 FE ReFo T T TR Jedh

(3) ARNIIF B HIFS 31 U RS Aedeh

(4) eHA® BT ReFo T T S a5

A.LV.IN.N. means .

(1)  Autonomous Land Vehicle In a Neural Network.

(2)  Auto Land Vehicle In a Natural Network.

(3) Automatic Land Vehicle In the Neural Network.

(4) Aerodynamic Land Vehicle In the Neural Network.
184. IMA.E. 3Fa 2000 T Yrasge it =1 31ef STH IR

) et it SiEt fefies fareR dur s
2) ;e < Siet fefSes famat e o
) Attt =t st fefew ARt #d
) o wd A g% ed

IT Act 2000 defines “private key” as
key pair used to create digital signature

)

2)  key pair used to verify digital signature
) key pair used to create digital marking
)

all the above options are wrong
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185. L. 3 2000 VM 3 STER Wogl TETQ ST Lhie QRN FeUHIeR §N O TF
Ay fohan TE AuE g e Wi T,
(1) fefvee wiftRane 2) fefves A
(3) fefves =g (4) e wd
means authentication of any electronic record by a subscriber by means of an
electronic method or procedure in accordance with the provision of section 3 of IT Act
2000.
(1) Digital certificate (2) Digital signature
(3) Digital code (4) All of the above
186. fa.smHl. Jwin fafen v domedt er _ 3fgAl
(1) A (2) T (3) MR (4) @RI
In CRC checking CRCis
(1) divisor (2) quotient (3) dividend (4) remainder
187. 802 B WeE JHINUN WIHTUh! BT REE HISe Fl WEHIS 378 ?
(1) 802.2 (2) 8023 (3y 8025 (4) 802.6
Which of the 802 standard provides for the collision free protocol ?
(1) 802.2 (2) 8023 (3) 8025 (4) 802.0
188. T IOI3E 99E Jaoe UreqyH 4. ¥ fser ai Preeragry 39 srEda Fo.
(1) - @) =R () F-obn (4) =TT
___________ is a cloud based tablet solution launched by Sam Pitroda at
Thiruvanantapuram.
(1) B - tutor (2) e-tutor (3) e -learning (4) e -school
189. fommenfe®t &1 SUHH WA HI0EN STIETA Harad 31 ?

(1) FEe -1 (2) FES -3 (3) ¥THS-1d (4) ¥TEI-24

With which satellite is Vidya Vahini project related ?
(1) INSAT-1A (2) INSAT-3B (3) INSAT-1B (4) INSAT-2B
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190. LW & FEFHS 1 YhTTT TR,
(1) FIRMSH Trhie (2) HES AT Yo
(3) HEH e Wi @ (1) Q) TR
U.D.P. Protocol is _____
(1)  connectionless protocol (2) message oriented protocol
(3) connection oriented protocol (4) Both (1) and (2)
191. "=ui Sl foren foesem SaRat I0Ug M1 Wieiedsh! B0l e ieEd S 2
(1) = e (2) AR
(3)  ferem et (4) |TEA AT
What is “Swarn Jayanti Vidya Vikas Antariksh Upagraha Yojana” called as ?
(1) Dnyan Vardhini (2) Dnyan Vahini
(3) Vidya Vahini (4) Saraswati Vahini
192. o U oo fwleg daeen VT
(1) 3FEE THRZ JI2HS (2) TEAW Sih
(3) TEW AN BEA (4) TER T TG GEARG
The Active Text on a web page is knownas __ .
(1) active text protocol (2)  hyper link
(3) line which is hyper (4) hyper line transfer protocol
193. fewa T 7N YRG! FIFge Aeafh At @ ®ie AR
(1) Tefteyee ve fafen deie (2) Teisgde dos fafen TRewe
() feEi=yre ¥as fHfien 1o (4) Teeflsyds W fafey 4o
DMSP is knownas ___ protocol in computer networking,.
(1) Distributed Mail Systemn Protocol (2) Distributed Message System Protocol
(3) Distributed Message System Pool {4) Distributed Mail System Pool
194. LCTN WG ®e L.
1) AFEFS HIF R TS
(2) ST TR S
(3) STTNHT wIFfTHyR TF@r
(4) TEIA HIYHI THISH!

What does I.C.T. stand for ?

(1) Ideal Communication Technology

(2) Information Communication Technology
(3) International Communication Technology
(4) Indian Communication Technology
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195. T.UA.UE.3E. B

(1) HdFT T K8 T2

(2) AFTRGH M0 WS TR

(3) ARIH TH® WE TRIeYe

(4) SBUR AT

AN.S.I. means

(1) American National Standard Institute

(2) Afganistan National Standard Institute

(3)  Algerian National Standard Institute

(4) None of the above
196. 3. TH. B U1 SMFETHITE SeRIoT-Har T A g5 TiE 1 FrEaese

LIRSS

1) <Y & 2) =H=Yg 3) =Y =™ 4) =@y

is a chess programme created by IBM to beat Gary Kasparov.

(1)  Blue Sky (2) Deep Blue (3)  Blue Chess (4) Chess Blue
197. JTE.NFN.- 4 RE FA.REL. - 6 =1 9 TS TO© (hee THd.

(1) o= g free (2) Three B WTHIHE THEAIE

(3) T FAS @) g freg

IPV - 6 does not include the following field in the base header like IPV - 4 :

(1) Next header field (2) Field for fragmentation information

(3) Flow label (4) Kind field
198. SEMEIG AT RIS T FAH ITHONST oo (FrGHA1) 0. & FheqT 1956 TS|

(1) H& weff (2) W& SHES (G) HHFA  (4) He U

Artificial intelligence concerned with the design of intelligence in an artificial device, was
proposed by in 1956.

(1) Mc Carthy (2) Mc Donold (3) Mc Cathy (4) Mc Grew
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199. WR Y@ AL WO T HIFZET FHae HM.
(1) HIIX ¢ FS od 98 FFa
(2) FPA T He U (Fieog fhan femmw) ot sream,
(3) W& AR TH @ Fao 7 SrEda
4) Fd FFYR (FAUE!) FHSH Ao Faed Sed.

A computer network uses a star topology if

(1) Computers are arranged in a closed loop

(2) All computers are attached to a central point

(3) All computers are connected on a single cable

(4) Computer attached to multiple cables in hierarchy

200. 3.3 3 2000 TIER *‘&wirgR fEE” =wom

(1) g (2) HIIR AeTH

(3) =T« 4) oo wd

According to IT Act 2000 “computer resource” means :

(1) Computer (2) Computer Network

(3) Data (4) All of the above
-00o0-
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AT — (7% 1 967 I8....)

®) yvyferned fafea howan fafire Srfe ®= &M (IF 9%6) M@, TAYRAHAN G STAAHAR 3T
3R FIRER F= HH Hed@ § HU HOIA TIM FS 37, I AHS RS o AR IHGIRE
FREAM SR ot gltetined o TRy Sfaey ogeeaa Tfuftam-82"" Ao dRgeuR HRAR
FUAT ATS 9 Nl TR HHIG Tk TN FREHEA] U1/ fhHar w93t g9R Ha= <sr=n ey
A R,

©) T TR AT fafed 30T 3% HYEAHR IACANET @ TR S AT
U VIR AT, 3R, WIS T hefTaTey AvIigdl SHEaN IeAT STRUeh =l HTT-1
AHagETERS 7 THEETr o T A AT

T
Y. %. 201. WA 9 TR FIOAMIES! ST JoAd: FIA had 2
(1) T gAEg e 2 I¥REg fammEmR
@) TS TR W @)  TiTeEH TEa
YT AT W (3) TS UHEE U9 I8 AR, e 91 T S| (3) dEe. arad
WISGUAT T %, 201 99He IW-wais Q)" ® ade pivel srifed w1 qrafan
HEWEH AR,

LER UEONON N6

ITUTFINS A AT TEHHHEARG Hatyd dded U9l SHEifehd F&T qEaEl.  gidhiar
T WAl Y Aieud arRme, i ar e I aue .
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